

OFFICE OF THE DEPUTY INSPECTOR GENERL OF POLICE, TRAFFIC (LICENSING & TRAINING), KARACHI 11TH ZAMZAMA STREET (ADJACENT DL BRANCH), CLIFTON, KARACHI 200

The Manager (Assessment),
Sindh Public Procurement Regulatory Authority,
Government of Sindh, Karachi.

Attn: Assistant Director (Assessment)

Subject:-

NIT FOR THE PURCHASE OF FURNITURE & FIXTURE FOR DRIVING LICENSE COMPLEX AT DRIVING LICENSE BRANCH CLIFTON KARACHI.

Reference:- SPPRA Serial No.36287, dated: 18-01-2018.

Please find herewith copies of the following documents.

- 1. Attendance Sheets of the committee members.
- Attendance Sheets of the contractors/builders.
- 3. Bid Evolution Report.
- 4. Minutes of the meeting.
- 5. Comparative statement.
- 6. Technical Evaluation Report.
- 7. Copies of the Financial Proposals Received from Vendors.

It is requested that BER may be places on SPPRA website on priority

basis.

(FARHAT ALI JUNEJO) PSP

Deputy Inspector General of Police, Traffic Licensing & Training,

Karachi.

Copy forwarded to the following:-

- 1. The Addl.IGP / Traffic Sindh Karachi.
- 2. The AIGP / Logistic Sindh Karachi.

SPPRA INWARD DIARY O: 658 9 ATED: 01-03-22

OFFICE OF THE DEPUTY INSPECTOR GENERL OF POLICE, TRAFFIC (LICENSING & TRAINING), KARACHI 11TH ZAMZAMA STREET (ADJACENT DL BRANCH), CLIFTON, KARACHI

Subject: -

MINUTES OF THE MEETING OF COMMITTE FOR PROCUREMENT OF FURNITURE & FIXTURE FOR DRIVING LICENSE COMPLEX AT DRIVING LICENSE BRANCH CLIFTON KARACHI.

On 23 February, 2018 at 1100 hours a meeting of the Procurement Committee, constituted by the IGP Sindh vide order No.G-I/667 dated 30-11-2017, was held at office of the DIGP Traffic (L&T) Karachi. The following were present.

Mr. Farhat Ali Junejo, PSP	(Chairman)	
DIGP Traffic (L&T) Karachi.	(Chairman)	
Mr. Muhammad Ahmed Baig	(Secretary)	
DSP/Admin Traffic (L&T) Karachi	(Secretary)	
Mr. Hashmat Ali Jaffri	(Member)	
DSP/DL Branch Clifton Karachi	(Member)	
Mr. Zahid Ahmed	(1) (1) (1)	
Rep. of Information Science & Technology Department	(Member)	
Mr. Manzoor Ali Tunio	Mombal	
Rep. of Works & Services Department Govt. of Sindh.	(Member)	

AGENDA:-

Agenda of the meeting was as under:-

- To open the financial bids of technically qualified bidders.
- ii. To evaluate the bids for final acceptation / rejection.

Discussion / Decision:-

- After discussion in the light of SPPRA Rules, the financial bids of only technically qualified bidders were opened.
- Bids of technically disqualified bidders were returned sealed to the concerned bidders.
- Final bid evaluation results are as under:-

S.#	Firms Name	Result	Total Cost	Final Evaluation (Accepted / Rejected)	Remarks
01	M/S. M. Jamil Furniture Mart	Qualified	Rs.9,247,720/-	Accepted	Because of Lowest Rate
02	M/S. Raja Brothers	Qualified	Rs.9,999,630/-	Rejected	Because of Higher Rate
03	M/S. Multi Business Corporation	Disqualified	(#):	Technically disqualified	Sealed financial proposal returned
04	M/S. S R International	Disqualified		Technically disqualified	Sealed financial proposal returned

The meeting ended with the vote of thanks by the Chairman of Procurement Committee.

(Muhammad Ahmed Baig) DSP/Admin Traffic (L&T) Karachi

4.

(Secretary)

(Zahid Ahmed)

Rep. of Information Science & Technology Department

Government of Sindh

(Member)

(Hashmat Ali Jaffri) DSP/DL Branch Clifton Karachi

(Member)

(Manzoor Ali Tunio)

Rep. of Works & Services Department

Government of Sindh (Member)

(Farhat Ali Junejo) PSP DIGP Traffic (L&T) Karachi. (Chairman)

COMPRATIVE STATEMENT

PURCHASE OF FURNITURE & FIXTURE FOR DRIVING LICENSE COMPLEX AT DRIVING LICENSE BRANCH CLIFTON KARACHI.

No.DIGP/TR/(L&T/Gen/ 2329

/2018/Karachi/Dated: 23-02-2018.

S.#	Name of Company	Cost Offered by Bidder	Remarks
STORT STORY	M/S. M. Jamil Furniture Mart	Rs.9,247,720/-	Qualified & Lowest
2	M/S. Raja Brothers	Rs.9,999,630/-	Qualified but Higher
3	M/S. Multi Business Corporation	-	Technically Disqualified
4	M/S. S R International	-	Technically Disqualified

The committee has accepted and recommended the Bid of M/S M Jamil Furniture Mart being lowest one.

(Muhammad Ahmed Baig)

DSP / Admin

Traffic Licensing & Training Karachi

(HASHMAT ALIXAFFRI)

DSP/DL Branch Clifton Karachi

(Member)

(Zahid Ahmed)

Rep. Information Science & Technology Department

Government of Sindh

(Member)

(Manzoor Ali Tunio)

Rep. of Works & Services Department

Government of Sindh (Member)

(FARHAT ALI JUNEJO)

Deputy Inspector General of Police Traffic (Licensing & Training) Karachi. (Chairman)

BID EVALUATION REPORT

1. Name of Procuring Agency

2. Tender Reference No. (Re-tender Notice)

Sindn Police

DIGP/TR/(L&T)/Gen/367-76, dated: 09-01-2018.

Purchase of Furniture & Fixtue for Dirving License Complex at Driving

License Branch Clifton Karachi.

4. Method of Procurement

3. Name of Work/Items

5. Tender Published (Print Media)

6. SPPRA Serial No. 7. Total Bid Sold

8. Total Bid Received

9. Technical Bid opening Date (if applicable)

10. No of Bid Technically Qualified (if applicable)

11. Bid (S) Rejected

12. Financial Bid Opening Date

13. Cost of Sanctioned Estimated

Single Stage Two envelope Procedure Date 15-01-2018, INF-KRY: No.254/18.

36287

09

04

07-02-2018

02

02

23-02-2018

Rs.9.25 Million.

14. Bid Evaluation Report:

S.#	Name of Firms of Bidders	Cost offered by the Bidders	Ranking in Terms of Cost	Comparison with Estimated Cost	Reason for Acceptance/Rejection	Remarks
1	M/S. M. Jamil Furniture Mart	Rs.9,247,720/-	1st Lowest	Within Estimated Cost	Accepted (Because of Lowest Rate)	-
2	M/S. Raja Brothers	Rs.9,999,630/-	2nd Lowest	Excess to Estimated Cost	Rejected (Because of Higher Rate)	
3	M/S. Multi Business Corporation	-	*	c <u>⇒</u> ;	Rejected	Technically Rejected Due to Different Reasons.
4	M/S. S R International	-	-	(*	Rejected	Technically Rejected Due to Different Reasons.

(MUHAMMAD AHMED BAIG)

DSP/Admin Traffic (L&T) Karachi

(Secretary)

(Zahid Ahmed)

Rep. Information Science & Technology Department

Government of Sindh (Member)

(HASHMAT ALI JAFFRI)

DSP/DL Branch Clifton Karachi

(Member)

(Manzoor Ali Tunio)

Rep. of Works & Services Department

Government of Sindh

(Member)

(FARHAT ALI JUNEJO)

Deputy Inspector General of Police Traffic (Licensing & Training) Karachi. (Chairman)



M. Jamil Furniture Mart

Deals in Science Equipments, IT Equipments, Furniture Items & Govt. Suppliers

Rof. 7/188/18

Date: 06/02/2012

To.

DIGP Traffic (Licensing & Training), 11thZamzama Street, Adjacent Drawing License branch, Karachi.

Subject:

Tender for the purchase of Furniture & Fixture

Dear Sir,

With reference to your tender for the Purchasing of Furniture & Fixture.

We are submitted our lowest rates for your kind approval we are also accepting all terms and conditions in your Tender Perform. Enclosed Earnest Money 2% Shape of Pay Order.

Detail of Pay orders:

P.O: 0004004| Date: 06-02-2018 198,000 = Bank: Mezan Bank

Regards

M.Jamil Furniture Mart

M. Jamil Furniture Mart, Karachi



M. Jamil Furniture Mari

Deals in Science Equipments, IT Equipments, Furniture Items & Govt. Suppliers

12.1		
ref: _	 	

Date: 06/02/2

FINANCIAL PROPOSAL

r. No	Quoted Item Name & Specification	Quantity	Unit Cost (Rs)	Total Cost (Rs)
1	Testing Station Size: 33"x24"x48". Made of high density laminated chip board, edges covered with PVC all sides partition having soft board cover with imported cloth testing station having one key board Tray alongwith high quality channel patti having four steel shoe in base	16	34000	544,000
2	Registration Booth Front Size: 5.6"x2.6"x3.6"x7' made of High-density laminated Chip Board, All edges are covered with PVC lipping, key board tray alongwith imported channel patti. marbel top covered as per giving design.	8	80000	640,000
3	Rear Counter Size 5.6"x2"x3.6"x7' made of High-density laminated Chip Board, All edges are covered with PVC lipping , having four draws and four cabinets alongwith imported channel patti and locks. marbel top covered as per giving design.	8	52000	416,000
4	Reception Counter Size: 8'x2.6"x3.6" made of High density lamination Chip Board with marble Top as approved design.	_ 1	99000	99,000
5	Table Size: 4'x2.5" Made of Lamination Chip Board, all edges covered with PVC lipping, Mobile Rack 16"x18"x18" having 2 draw, 1 cabinet along with imported channel patti lock system as per approved design.		37000	1,073,000
6	Raar Rack Size: 4x2x30 Made of Lamination Chip Board, all edges covered with PVC lipping, Rear Rack having different draws & different cabinets along with imported channel patti lock system as per approved design.	29	22000	638,000
7	Supply of Wooden Tiles	1296 sq ft	580 per sq ft	751,680
8	Supply GYPSUM sheet	5000 sq ft	360 per sq ft	1,800,000

MUHAMMAD AMIL

FURNITURE MART NAWABSHAH

M. Jamil Furniture Mari

Deals in Science Equipments, IT Equipments, Furniture Items & Govt. Suppliers

-		34		
9	Single Seater Sofa	8	17000	136,0
	Made of High Quality leatherite with 10 years warranty high		-	
	quality foam.		_	
10	Visitor Chairs	30	9500	285,0
11	Revolving Chair High Back	35	16000	560,0
	Made of High Quality leatherite with 10 years warranty high		ř.	
	quality foam. 5 Wheel imported base with imported hydrolic			İ
	system with tilted machanisim.		3	
12	Revolving Chair Low Back	60	14000	840,0
	Made of High Quality leatherite with 10 years warranty high.	The last	2,000	
	quality foam. 5 Wheel imported base with imported hydrolic: 1000			
	system with tilted machanisim.	100		
	67	pro		
13	Steel Bench 3 Seater	16	17500	280,0
	Made of Iron Steel Sheet with silver Powder coated colour	AMIL		× .
14	Wooden Cabinets	(35	32000	928,0
14	Size : 3x18x18" Made of high denisty lamination chip board	29	32000	320,0
	covered with PVC lipping. All gabzaz / handles / locks should be	48	-	
	imported and good quality	100	.do.	
	FURNITURE MART NAW	ABSHAH	WAR.	10
15	wooden Partition	459 sq ft	560	257,0
	8.5 ft x 4.5 Height alongwith glass and lassani with matt finish laccer	20 20 1 E	Silena .	. 9
	polish as per approved design.		r	
4				3 1
/			į.	1
		1 -		
1	The North			
6	Sim O			

in Words: Nine Million Two Lac Forty Seven Thousand Seven Hundred and Twenty Only.

Earnest money will be equivalent to 2% of the total bid cost.

Only Pay Order / Bank Draft for earnest money will be acceptable in favour of DIGP Traffic (Licensing & Training)

Karachi

M. Jamil Furniture Mart, Karachi



Ref:	Date:

To,

DIGP Traffic (Licensing & Training) Karachi.

Subject: Financial Proposal Tender for the purchase of Furniture & Fixture

Dear Sir,

We are thankful for your tender for the purchase of Furniture & Fixture for drawing license complex at drawing license branch Clifton Karachi. We quoted our lowest rates for your items.

Pay Order Details Following

2% Earnest Money Pay order number:

Amount: Dated: Bank:

RA IA RROTHER

Near Class - John Khairpay - 4 Jan

:

Financial Proposal

Sr. No	Quoted Item Name & Specification	Quantity	Unit Cost (Rs)	Total Cost (Rs)
1	Testing Station Size: 33"x24"x48". Made of high density laminated chip board,	16	36000	576,000
aw *	edges covered with PVC all sides partition having soft board cover			3
	with imported cloth testing station having one key board Tray			
	alongwith high quality channel patti having four steel shoe in base			
2	Registration Booth	8	86000	688,000
	Front Size: 5.6"x2.6"x3.6"x7' made of High-density laminated Chip Board, All edges are			
	covered with PVC lipping , key board tray alongwith imported			1
	channel patti. marbel top covered as per giving design.	9		
3	Rear Counter Size 5.6"x2"x3.6"x7' made of High-density laminated Chip Board, All edges are	8	58000	464,000 2
	covered with PVC lipping , having four draws and four			
	cabinets alongwith imported channel patti and locks. marbel top covered as per giving design.	Mr	ny	-

Aby Mary

RAJA BROTHE

Head Office: Near Civil Hospital Khairpur Tel / Fax: (0243)552193 Sub Office: Flat # P-8, Hasan extention gulshan-e-lqbal, Karachi. Cell: 0302-3694946 'aı

D

nε

Ref:	Date:
	2

4	Reception Counter	1	105500	105,500
	Size: 8'x2.6"x3.6"			
	made of High density lamination Chip Board with marble Top			
	approved design.			
		-		
5	Table	29	38500	1,116,500
	Size : 4'x2.5" Made of Lamination Chip Board , all edges covered with PVC			
	lipping, Mobile Rack 16"x18"x18" having 2 draw, 1 cabinet			
	along with imported channel patti lock system as per			
	design.			
6	Raar Rack	29	24000	696,000
	Size : 4x2x30	27	24000	090,000
	Made of Lamination Chip Board , all edges covered with PVC			
	lipping , Rear Rack having different draws & different cabinets			
	along with imported channel patti lock system as per approved			
	design.	-		
7	Supply of Wooden Tiles	1296 sq ft	610 per sq	790,560
8	Supply GYPSUM sheet	5000 so ft	410 per sq	2,050,000
9	Similar Santan Safa	1/60	1 100	
9	Single Seater Sofa Made of High Quality leatherite with 10 years warranty high	10/1	L 20000	160,000
	made of high quarity reacherite with 10 years warranty high	1		
	quality foam.			

John Drawing

MA

RAJA BPOTHE

Head Office: Near Civil Hospital Khairpur Tel / Fax: (0243)552193 Sub Office: Flat # P-8, Hasan extention gulshan-e-lqbal, Karachi. Cell: 0302-3694946

. 3.



K	Ref:		Date:		
10	Visitor Chairs	30	11450	343,500	
11	Revolving Chair High Back Made of High Quality leatherite with 10 years warranty high	35	16750	586,250	
·1.	quality foam. 5 Wheel imported base with imported hydrolic system with tilted machanisim.				
12	Revolving Chair Low Back Made of High Quality leatherite with 10 years warranty high	60	15000	900,000	
	quality foam. 5 Wheel imported base with imported hydrolic				
	system with tilted machanisim.				
13	Steel Bench 3 Seater Made of Iron Steel Sheet with silver Powder coated colour	16	17850	285,600	
14	Wooden Cabinets Size: 3x18x18" Made of high denisty lamination chip board covered with PVC lipping. All qabzaz / handles / locks should	29	33500	971,500	
	be imported and good quality			-	
15	Wooden Partition 8.5 ft x 4.5 Height alongwith glass and lassani with matt finish laccer	459 sq ft	580	266,220	
	polish as per approved design.	1	11.11		
otal	Cost	1			

in Words

9,999,630

Earnest money will be equivalent to 2% of the total bid cost.

Only Pay Order / Bank Draft for earnest money will be acceptable in favour of DIGP Traffic (Licensing & Training)

Kar

Head Office: Near Civil Hospital Khairpur Tel / Fax: (0243)552193
Sub Office: Flat # P-8, Hasan extention gulshan-e-lqbal, Karachi. Cell: 0302-3694946

PURCHASE OF FURNITUR & FIXTURE FOR DRIVING LICENSE COMPLEX AT DRIVING LICENSE BRANCH CLIFTON KARACHI.

ATTENDANCE OF THE COMMITTEE MEMBERS

Dated: 23-02-2018.

S. No	Committee Members	Time	Attendance Signature	Remarks	
01	Mr. Farhat Ali Jujeno, PSP DIGP Traffic (L&T) Karachi. (Chairman)	1/00 Mes	\		
02	Mr. Muhammad Ahmed Baig DSP/Admin Traffic (L&T) Karachi (Secretary)	(160 max	though		
03	Mr. Hashmat Ali Jaffri DSP / DL Branch Clifton Karachi (Member)	1700 hus.	Oflat		
04	Mr. Zahid Ahmed Rep. of Information Science & Technology Department, Govt: of Sindh (Member)	11:00-00	SAME		
05	Mr. Manzoor Tunio Deputy Director of Works & Services Department, Govt: of Sindh (Member)	11.00	Dim		

PURCHASE OF FURNITUR & FIXTURE FOR DRIVING LICENSE COMPLEX AT DRIVING LICENSE BRANCH CLIFTON KARACHI.

ATTENDANCE OF THE CONTRACTORS/BUILDERS FOR OPENING FINANCIAL BID DOCUMENTS

Dated: 23-02-2018.

S. No	Committee Members	Time	Attendance Signature	Remarks
01	M/S. Multi Business Corporation Sharnd Raza	11.00	Shawal Raza	
02	M/S. Raja Brothers	11:00	umar sald	
03	M/S. M. Jamil Furniture Mart	11:00	Jul Zann	
04	M/S. S R International	11:00	Asri	1

OFFICE OF THE DEPUTY INSPECTOR GENERAL OF POLICETRAFFIC (LICENSING & TRAINING) KARACHI.

11th ZAMZAMA STREET, DRIVING LICENSE BRANCH CLIFTON, KARACHI.

NO. DIGP / TR /(L&T) /Gen/ >172 /2018, KARACHI, DATED:20 - 2-2018.

Technical Evaluation Sheet

Purchase of Furniture & Fixture For Driving License Complex At Driving License Branch, Clifton Karachi.

			Marks Obtained			
Sr #	DESCRIPTION	Maximum Mark	Raja Brothers	M. Jamíl Furniture Mart	Multi Business	S R International
01	Registration with relevant Government departments Authorities.	05	05	05	02	02
02	N		03	03	03	02
03	Bank Account Details	03	03	03	02	01
04	Working Capital in last 03 Years.	10	10	10	10	05
05	Blacklisted/Dbarred from any agency	02	02	02	02	02
06	Litigation History in which Decision has been given against the Firm(s)	02	02	02	02	02
07	Previous Experience of manufacturing and supplying of all types of Furniture Articles / General Items in last 05 years to Govt. / Commercial Organization (Attach completion certificate)	10	10	10	10	05
80	Current commitment of Supplying of Furniture Articles /	05	05	05	05	0
09	The items which you are supplied different department, Quality will be check at your display centre.	20	20	18	10	10
10	If you have satisfactory display center.	10	10	09	06	10
11	Workshop & Machineries	30	30	28	15	26
TOTAL:- 100		100	100	95	67	65
	Status.		Qualified	Qualified	Disqualified	Disqualified

Note: Minimum passing/qualifying marks is 80%.

(Muhammad Ahmed Baig)

DSP/Admin Traffic (L&T) Karachi

(Secretary)

(Hashmat Ali Jaffri) DSP/DL Branch Clifton Karachi (Member)

(Mr. Jahanzalb Memon) Rep. of Information Science & Technology Department (Member)

(Manzoor Ali Tunio) Rep. of Works & Services Department Government of Sindh

(Member)

(Farhat Ali Junejo) DIGP Traffic (L& L) Karachi. (Chairman)